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2a-7b+5

HainguTe sHauyeHue BbipaxkeHua 61a — 11b + 50, ecnu

7a-2b+5
§ 3a—6b+4
Haliaute 3HauyeHue BbipaxkeHua 39a — 15b + 25, eciiu ca—3bid
5 a—-4b+7
Haligute 3HayeHue BbipaxkeHusa 31a — 4b + 55, ecin raprT =
. 4a—9b+3
Halgute sHaueHue BbipaxkeHus 41a — 11b + 15, eciu Sa—ab13
} 5a—8b+2
Halgute sHaueHue BbipaxkeHus 19a — 7b + 12, eciu 8a—5biz 3.
. 3a-7b+6
HaiawTe 3HayeHue BbipaxkeHus 25a — 5b + 22, eciu Sa—3bre = 4.
. 2a—-5b+7
Halgute sHaueHue BbipaxkeHus 28a — 7b + 40, ecu Sa—2b17 6
. 3a—-4b+8
Haigute sHaueHue BbipaxkeHus 33a — 23b + 71, eciu ra-3bi8
y a—-6b+5
Halgute sHaueHue BbipaxkeHun 41a — b + 45, eciu ca—prs =
. 4a-5b+6
. Halgute 3sHaueHue BbipaxkeHus 11a — 7b + 21, eciu sa_ibre — 3.

. Pewiute ypaBHeHue x3+3x’=16x+48
. Pewwnte ypasHeHue x>+4x*=4x+16

. Pewnte ypasHeHue x3+6x°=4x+24

. Pewwnte ypasHeHue x3+6x*=9x+54

. Pewwnte ypasHeHue x>+3x°=4x+12

. Pewwnte ypasHeHue x3+2x*=9x+18

. Pewwnte ypasHeHue x3+7x*=4x+28

. Pewwnte ypasHeHue x>+4x*=9x+36

. Pewwnte ypasHeHue x3+5x*=4x+20

. Pewwnte ypaBHeHue x>+5x°=9x+45

. Pewwnte ypasHeHue x3+3x*-x-3=0

. Pewwnte ypasHeHue x>+4x>-4x-16=0
. Pewwnte ypasHeHue x3+5x>-x-5=0

. Pewwnte ypasHeHue x3+2x>-x-2=0

. Pewwnte ypasHeHue x3+3x%-4x-12=0
. Pewwnte ypasHeHue x3+2x2-9x-18=0
. Pewwnte ypasHeHue x3+4x>-x-4=0

. Pewwnte ypasHeHue x3+4x2-9x-36=0
. Pewwnte ypasHeHue x3+5x>-4x-20=0
. Pewwnte ypasHeHue x3+5x2-9x-45=0

. Pewnte ypaBHeHue x? — 6x + V6 —x=vV6—x+7
. Pewnte ypaBHeHue x? — 2x + V2—x=+v2—-x+3
. Pewnte ypaBHeHue x? — 2x + V3—-x=+/3—-x+8
. Pewnte ypaBHeHue x? — 3x + V3—x=+3—-x+10
. Pewute ypaBHeHne x? — 3x + V5 —x=+5—-x+18
. Pewnte ypaBHeHne x? — 2x + Vi—x=+4—x+15
. Pewnte ypaBHenue x? — 3x + V6 —x =6 —x+28
. Pewute ypaBHeHne x? — 2x + V5—x=+5—x+24
. Pewnte ypaBHeHue x? — 2x + V6 —x=+/6—x+35

. Pewnte ypaBHenue x? — 3x + V6 —x =6 —x+40
. Pewnte ypasHeHue (x2-25)%+(x*+3x-10)?=0

. Pewute ypasHeHue (x2-16)%+(x*+x-12)?=0

. Pewnte ypasHeHue (x2-9)*+(x>-2x-15)?=0

. Pewnte ypasHeHue (x*-4)*+(x*-6x-16)?=0

. Pewwute ypasHeHue (x>-1)%+(x>-6x-7)?=0



46.
47.
48.
49,
50.
51.

PewwuTe ypaBHeHue (x>-36)%+(x*+4x-12)*=0
PewuTe ypasHeHue (x>-49)*+(x2-4x-21)*=0
Pewwute ypasHeHue (x3-4)%+(x3-3x-10)%=0
Pewwmnte ypasHeHune (x*-9)%+(x*+x-6)?=0
PewuTe ypaBHeHme (x>-25)%(x*+2x-15)*=0



